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[ Assiut University

Faculty of Science-Geology Dept

fixamination in Fundamentals of Geology (G100) For 1% year students

Time: Two Hours Jun., 2024

PART I: Internal processes (Total Marks 25) - Prof. Dr. Mohamed A. Raouf

Answer the following questions (1 - 25): (Each One Mark)
Choose the correct answer of the following:

1- The composition of oceanic crust:
a-is granitic composition b-is basaltic composition

2- Extrusive rocks are formed from:
a-Magma cooling inside the earth  b-Lava cooling outside on the earth’s surface

3-Sand is
a-sediments b-sedimentary rocks:

4-The mineral composition of peridotite is
a-plagioclase and pyroxene b- plagioclase and quartz

5. Plate tectonics is a result of Earths internal heat engine, powered by
a-the Sun  b-gravity c- heat flowing from Earths interior outward

6- Volcanics island arcs are associated with
a- transform boundaries  b-divergent boundaries  ¢- convergent boundaries

7- Which is not an intrusive igneous rocks.
a-gabbro b-basalt c-granite

8- A Sedimentary rock made of CaCO3 composition is:-
a-Coal b-quartzite c-limestone

9- Limestone recrystallizes during metamorphism into:-
a- schist. b- marble c- quartzite

10- Gneiss rocks is
a- regional metamorphism  b-thermal metamorphism  c-dynamic metamorphism

11-Slate rocks is
a- regional metamorphism b-thermal metamorphism  c-dynamic metamorphism

12-Agent of thermal metamorphism is
a-pressure b-temperature c- both
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Answer the following questions (1 - 25): {Each One Mark)
Choose the correct answer of the following:

1- The composition of oceanic crust:
a-is granitic composition b-is basaltic composition

2- Extrusive rocks are formed from:
a-Magma cooling inside the earth  b-Lava cooling outside on the earth’s surface

3-Sand is
a-sediments b-sedimentary rocks:

4-The mineral composition of peridotite is
a-plagioclase and pyroxene b- plagioclase and quartz

5. Plate tectonics is a result of Earths internal heat engine, powered by
a-the Sun  b-gravity c- heat flowing from Earths interior outward

6- Volcanics island ares are associated with
a- transform boundaries  b-divergent boundaries ~ ¢- convergent boundaries

7- Which is not an intrusive igneous rocks.
a-gabbro b-basalt c-granite

8- A Sedimentary rock made of CaCO3 composition is:-
a-Coal b-quartzite c-limestone

9- Limestone recrystallizes during metamorphism into:-
a- schist. b- marble ¢c- quartzite

10- Gneiss rocks is
a- regional metamorphism  b-thermal metamorphism c-dynamic metamorphism

11-Slate rocks is
a- regional metamorphism b-thermal metamorphism  c-dynamic metamorphism

12-Agent of thermal metamorphism is
a-pressure b-temperature c- both



13-Along what type of plate boundary does subduction occur?

a- divergent b- transform c- convergent

14- Average thickness of mantle is

a-2500 km b-1900 km ¢-3900 km  d-2900 km

15- Average thickness of core is
a-2500 km b-1470 km c-2470 km  d-3470 km

16- What type of plate boundary has the two plates moving away from each

other?
a-Divergent plate boundaries b-Convergent plate boundaries

c-Transform-fault plate boundaries d- All of the above

17- Convergent boundaries are areas where:
a-two plates come together b-two plates slides past each other

c-two plates slides apart from each other d-all of the above

18- The type of plate boundary to have Earthquakes:
a-subduction  b- spreading center c-transform fault c-all of the above

19-The earth's crustal plates move
a-A few meters per year
c-a few centimeters per year

b-a few millimeters per 1000 years
d- a few millimeters a day

20-Average thickness of oceanic crust is

a-5 km b-7 km ¢-35 km d-100 km
21-Wegener's evidence of continental drift:
a- Matching of animal and plant fossils b-fit of continental coastlines
c- Identical rock types of same age d- All of the above.
22- Mafic rocks contain about ------ % silica.
a- 20 b-50 - c-80 d- 100
23- Types of sedimentary rocks are:
a- clastic sedimentary rocks b- organic sedimentary rocks
d- chemical sedimentary rocks e- all of the above
24- Types of metamorphic rocks
a- regional b-thermal c-dynamic d- all of the above

25-Clastic sedimentary rocks such as conglomerates, sandstones and shales are

classified based on:
a- color b- density c- grain size d- all of the above

¥



PART II- External Processes: (Total Marks 25) : Prof. Dr. Mamdouh Soliman
(One Mark for each)

Choose the correct answer of the following (26-50):

26- Wave-like depositional structures that may composed of sand sediments is
A- A Cross-bedding B- aripple mark C- An anticline

27- The two directional sets of joints are formed due to

A- Compositional stress B- Tensional stress C- Shrinkage stress

28- The symmetrical folds are characterized by

A- Vertical axis B- inclined axis C-vertical axial plane

29- An wave- like depositional structure that is composed of various types of sedimentary

rocks is

A- A cross bedding B- anticline-syncline folds C- A sand dune

30- A Fault with a lateral movement is

A- Normal fault B- Reverse Fault C- Strike-slip fault

31- The hanging wall of a normal fault represents

A- The down fault block B- The upper fault block C- The foot walil

32- When A serious of sedimentary layers that deposited over an eroded surface of igneous or

metamorphic rocks we can call it.

A- Nonconformity B- Disconformity C- Karst deposits

33- The process of hydration of chemical weathering is responsible fo the:
A- The alteration of Feldspar to clay minerals
B- The alteration of olivine to clay minerals
C- The alteration of oxide minerals to hydroxide minerals

34-The chemical weathering of limestone resulted in
A- Formation of calcite B- Formation of barite

C- Formation of Ca (HCO;)2

35- The acidic ground water deposited stalactite and stalagmite in rocks such as
A- Chalk B- Shale C- Sandstone

36- Granite Exfoliation is formed due to
A- Ice Wedging process B- Thermal expansion C- Root Pry

37- Wind deflation is resulted in the formation of
A- Ventifacts B- Desert pavement C- Sand dunes

38- Sand dunes migrate by
A- Erosion on the upwind direction and deposition on the downwind direction

B- Erosion on the downwind direction and deposition on the upwind direction
C- Erosion on the slip face and deposition on the upwind face
.
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39- Erosion of the ocean and seas are resulted in the formation of
A- Sea Spites B- Sea cliffs C- Sea bars

40- Oxbow lake is formed from
A- Braided Channels B- Straight Channels C- Meandering Channels

41-Alluvial fan deposits form in
A~ Deserts B- Meandering rivers C- Seas

42- Point bar deposits of a river is formed in
A- OQuter part of the meander B- Inner part of the meander

C- middle part of the meander

43- Which sediments are more permeable?
A- Angular sediments B- Well sorted sediments C- Aquiclude sediments

44- Artesian wells can be established in a

A- Horizontal confined aquifer ~ B- Tilted confined aquifer C- Tilted confined aquiclude

45- Porosity is:
A. A measure of how easily water can flow through a material.
B. A belt of soil moisture- water near surface
C. The percentage of pore space in the rock.

46- Which of the eons listed below is NOT considered to be a part of the Precambrian?
A- Phanerozoic B- Proterozoic C- Archean

47- In the following figure, What are the modes of fossil preservation?:

A- Preservation of the hard body parts
B- Lack of oxygen and Carbonization
C- Replacement

48-Which one of the following statements is FALSE? A fossil may be:

A- an original skeleton or shell;
B- material that has replaced the once living thing;
C- an original body found in the present time

49- The chemical formula of the mineral sphalerite is
A- CuS, B- ZnS, C- ZnS

50- The mineral muscovite is compased of :
A- Al k, Fe, Mg silicates : B- Al, K, hydrous silicates
C- Al, k, Fe, Mg, hydrous silicates
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